

$$3x^2 - 4x - 1 = 0$$

$\frac{3}{1} \rightarrow \alpha, \beta$
 $\frac{3}{1} \times \alpha = \frac{4}{3} \rightarrow 3\alpha^2 = \frac{4}{3} \rightarrow \alpha^2 = \frac{4}{9} \rightarrow \alpha = \pm \frac{2}{3}$
 $\alpha = \frac{2}{3}, \beta = -2$ جمع: $2 + \frac{2}{3} = \frac{8}{3} \neq \frac{4}{3} \rightarrow \alpha = 1$
 $\alpha = -\frac{2}{3}, \beta = -2$ جمع: $-2 - \frac{2}{3} = -\frac{8}{3} \neq -\frac{4}{3} \rightarrow \alpha = -1$
 اختلاف $\alpha = 1 - (-1) = 2$

$$3x^2 - (m+14)x + 6 = 0$$

$\frac{3}{1} \rightarrow \alpha, \beta$ $\frac{1}{\alpha} + \frac{1}{\beta} = \frac{m+14}{6} \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} + 2\sqrt{\frac{1}{\alpha\beta}} = \frac{m+14}{6} + 2\sqrt{\frac{1}{\alpha\beta}}$
 $\frac{\alpha+\beta}{\alpha\beta} + 2\sqrt{\frac{1}{\alpha\beta}} = \frac{m+14}{6} + 2\sqrt{\frac{1}{\alpha\beta}} \rightarrow m+14 + 2\alpha\beta = \frac{m+14}{6} + 2\alpha\beta \rightarrow m = -1$
 $3x^2 + 3x + 2 = 0 \rightarrow -1 \cdot x^2 + 3x + 2 = 0 \rightarrow -1$

$$kx^2 + kx^2 - 9x + 5 = 0$$

$\alpha, \beta \rightarrow \alpha + \left(-\frac{2}{\alpha}\right) = 1 \rightarrow \frac{\alpha^2 - 2}{\alpha} = 1 \rightarrow \alpha^2 - \alpha - 2 = 0 \rightarrow (\alpha - 2)(\alpha + 1) = 0$
 $\alpha = 2, \beta = -1$
 $\alpha = -1, \beta = 2$
 $\frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{2} + \frac{1}{-1} = -\frac{1}{2} \neq \frac{9}{5}$
 $\frac{1}{\alpha} + \frac{1}{\beta} = \frac{9}{5} \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{9}{5} \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{9}{5} \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{9}{5}$

$$x^2 + 4x + a = 0$$

$\alpha, \beta \rightarrow \alpha + \beta = -4, \alpha\beta = a$
 $\frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{a} \rightarrow \frac{\alpha + \beta}{\alpha\beta} = \frac{1}{a} \rightarrow \frac{-4}{a} = \frac{1}{a} \rightarrow -4 = 1$
 $\frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{a} \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{a} \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{a}$

$$x^2 - 4x - 5 = 0$$

$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{a} \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{a} \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{a}$
 $\frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{a} \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{a} \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{a}$

$$\begin{aligned}
 r a^r - a a^r + b s &= 0 \rightarrow \frac{b}{r} = \alpha + \frac{1}{r}, \beta = \frac{1}{r} \rightarrow (\alpha + \frac{1}{r})(\beta + \frac{1}{r}) = \alpha\beta + \frac{1}{r} + \frac{1}{r}(\alpha + \beta) = \frac{b}{r} \\
 r a a^r + a a^r - \gamma s &= 0 \rightarrow \frac{\gamma}{r} = \alpha\beta + 1 \rightarrow \alpha\beta + 1 = \frac{a}{r} \rightarrow a = 1 \\
 \alpha\beta s &= \frac{a}{r} = \frac{1}{r} \\
 \left[\frac{a}{r} \right] &= \left[\frac{-\gamma a}{r} \right] = -1 \\
 -r + \frac{1}{r} + \frac{1}{r}(\frac{1}{r}) &= \frac{b}{r} \\
 b &= -\gamma
 \end{aligned}$$

$$\begin{aligned}
 a a^r - a a^r - b s &= 0 \rightarrow a a^r - a a^r - b s = 0 \rightarrow a = \frac{a+b}{a} \\
 r \beta^r + r_0 a^r - r_0 \beta s &= 1 \rightarrow \beta^r = \frac{a\beta + b}{a} \\
 \frac{r_0(a\beta + b)}{a} + \frac{r_0(a a^r + b)}{a} - r_0 \beta s &= 1 \rightarrow 1/a = r_0(a\beta + b) + r_0(a a^r + b) - r_0 \beta s \\
 r_0 a \beta + r_0 b + r_0 a a^r + a - r_0 a \beta s &= 1 \rightarrow r_0 a \beta - r_0 a \beta + r_0 b + r_0 a s = 1 \rightarrow b = \frac{r}{r_0} a \\
 r_0 a (\frac{r}{r_0} + \alpha) &= r_0 a \beta s \quad \omega = \frac{\sqrt{a}}{1/a} = \frac{\sqrt{a^r + r_0 a b}}{a} = \frac{\sqrt{a^r - r_0 a r}}{1/a} = \frac{\sqrt{r_0 a r}}{1/a} = \frac{\sqrt{r}}{1/a}
 \end{aligned}$$

$$\begin{aligned}
 a^r - (a+1) a^r &= 0 \rightarrow \alpha, \alpha + r \rightarrow r a + r = a + 1 \rightarrow r a + r - 1 = a + 1 - r \rightarrow a = 1 \\
 a^r - (a+1) a^r + b s &= 0 \rightarrow \beta, \beta + r \\
 (r \beta + r_0 a + 1) s &= 1 \rightarrow \beta s = 1 \rightarrow \beta s = r \\
 (r)(r) s &= r s + b \rightarrow b = r s \\
 a) p s r &\rightarrow r s - a s = 1 \\
 b) p s r s &\rightarrow r s - a s = 1
 \end{aligned}$$

$$\begin{aligned}
 a^r + a - 1 - m^r s &= 0 \rightarrow a^r = m^r + 1 - a \\
 a^r + \beta^r &\rightarrow \beta^r = m^r + 1 - \beta \\
 (m^r + 1 - a + m^r + 1 - \beta) s &= m^r + r + \frac{a(r-\beta)}{-1} \rightarrow m^r + r \rightarrow \min s = \frac{b}{r} = 0
 \end{aligned}$$

$$\begin{aligned}
 A(x, y) &= \sigma^2 b d b, \frac{r-a}{r} = 1 \rightarrow \sigma^2 b d b s + \frac{r-a}{r} (x+1)^r + 1 = a a^r + a + r a x + 1 \\
 B(-a, y) &= \sigma^2 b d b s + 1 \rightarrow a a^r + r a x + a + 1 \\
 \alpha^r + \beta^r &= \Delta \\
 r \beta^r + r_0 a^r - r_0 \beta s &= 1 \rightarrow r_0 \left(\frac{r a}{a} \right)^r - r \left(\frac{a+1}{a} \right) = r - r \left(\frac{a+1}{a} \right) = \Delta \\
 r a - r a + r &= \Delta a \rightarrow r a s - r a s = \frac{r}{r} \\
 \frac{r}{r} a^r + \left(\frac{-r}{r} \right) a &= \left(\frac{1}{r} \right) = 0
 \end{aligned}$$